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a— R g Eik FERR (kg) © &FE (M) Sl | Zem E Hh (B0
30100 72 A ' 60 1,296 32| 22 11 7 6074
30200 2h5 19 836 22 13 8| kb1 625
31100 {3 100 1,728 270 130 130 BN 104 — =
31700 F vy~ 90 3,791 540 378 378 BN 95—
31800 1EFHhAHE 14 2,236 2 32 32 BN 6974
31950 ARE 3 540 54 54| 54/ A 104
34200 FLK 20 3,132 173 173] 140 5P 20kg
35220 XA ERHT 6 3,510 861 540 432 BN 6kg
35300 E—% 2 2,106 1,404 1,404 1,404 E5M 2kg
35303 RSy TEZALH 5 772 162 162 108 5P 5kg }
35400 25 EH 4 524 216 108 108 B kg
33200 WY TTU— 5 972 130 65 65 B 10f8
33300 7 m vy — 4 529 38 38 38| N 144H
Y3017 it Y 0 324 1,080 1,080 1,080 EN (Okg
41390 1E A 210 10, 573 324 216| 54 BN 60 > K
41807 AL — kAT Yy 5 810 27 11| 11 5N 45{#
46108 S IO 12 19, 494 540 508 432| B 395y 2
21011 AT L—% 5,093 28 17 11 B 2604
21032 KI+F (F) 1,210 12 12 12 B 1004
21207 BV a2y A 110 22 22 22 B S
Y5009 AR 12 3, 629 302 302 302 BN I2kg
15010 SbRx (%) 1 518 432 432| 432| B kg
30100 ZVWZA 45, 518 11 1) 5lERE 504
30300 AB L 60 2,700 540 432|432 B 64— =
31100 A3 180 1,426/ - 119 119 19 ERE 120 —2
31100 F3 L 90 1, 296 216 216 216 EIRE 64 —x
31200 [LH3E | 1 216 11 11 UBERE 2088
31800 1% 5 ALAE ‘ 6 1,296 43 43| R 308
31950 FRX B 15 1,944 432 378 ST8|BEE 54—
31900 X 4 2, 722 432 432 281 BEVER; | 7TH(500)
34400 b k 28 4,504 864 605 605 fE A T — X
34100 MK 2L 35 6,480 1,296 864 864 EILEy T4 —x
34500 E—~ > S 5 1,269 54 49, 19 B 25%%
36200 & K 10| 8,640 2,160 2,160 2,160 FEVIE 44 —=
36600 7-FRE 60 12, 528 5,400/ 3,564 3, 564 JLifi & 37—
33600 /<t Y 1 1,026 270 270 108 ] 5%
31310 ZP¥ 4 648 32 32 32| ta@lil 204%
31500 /MASE 1 648 32 32 20IRE 2088
37560 HBBIF 1 3,348 378 324 324| K4y 1075y 2
38400 AOEHFE 10| 2, 646 28 28 25 ViR 10088
38521 SALwUHE 3] 2,916 97 o711  o7iam 3043
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a—F i 4 Fitk PR (kg) EFE (1) =T i el PE (HAL)
40100 ZipA 3L 100 2, 160 216 216 216 HEA 104 — A
430 Sv—F7—> B 15 216 216 216 216/ A¥ v |14—2=
Y4005 ALy B 7 30 378 162 108 18| A% a |34 —=
Y5006 FER(ESH ) 70 19,116 2,754 2,754 2,700 W E |1 —=
Y5006 #IF (F4h) 70 17, 064 174 174 158 BRI & 10073y 7
Y5009 &M KR 5 810 162 162 162 BV bkg
Y5011 TEIRME 2 1,836 108 86 86 Wi |204%
1.459! 162.084;
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